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1. Identify the property by which the two given triangles are congruent
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(i) SAS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) RHS Congruency

2. ldentify the property by which the two given triangles are congruent
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D E P Q

(i) SAS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) SSS Congruency

3. ldentify the property by which the two given triangles are congruent

(i) SAS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency

Identify the property by which the two given triangles are congruent

(i) RHS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency



5. In the given figure, which of the following is true?
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(i) ACDE = ARQP (ii) ACDE = AQRP (iii) ACDE = ARPQ (iv) ACDE = APQR (v) ADEC = APQR

6. In the given figure, AEFG = ARQP. Which of the following are true?

a) LE = LP
b) LF = £LQ
c) FG=QP
d) FG = RQ
e) LG = LP
E P
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(i) {d,c} (i) {a,b} (i) {a,d,e} (iv) {a,b,c} (v) {b,c.e}

7. In the given figure, ACDE = AVUT. Which of the following are true?

a) LT =176°
b) LU =76°
Cc) LV =58°
d) LU = 58°
e) LV = 47°
f) LT =47°
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(i) {f.b,e} (i) {c,a,d} (iii) {b,a} (iv) {a,de} (v) {cd}



8. In the given figure, AABC = ASTU. Which of the following are true?

a) US =16 cm
b) TU =16 cm
c) TU=14cm
d) ST=16cm
e) US=15cm
f) ST=14cm
U
5
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(i) {b,d} (ii) {b,c,d} (iii) {f,a,e} (iv) {cde} (v) {a,c}

9. With the data in the given figure, ABCE = ABDE by which property?
B
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(i) ASA Congruency (ii) SAS Congruency (iii) not congruent (iv) SSS Congruency (v) RHS Congruency

10. With the data in the given figure, AOED = AOCB by which property?
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(i) not congruent (ii) SAS Congruency (iii) SSS Congruency (iv) RHS Congruency (v) ASA Congruency

11. With the given data in the figure, AHGJ = AIF) by which property?
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(i) RHS Congruency (ii) SAS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) not congruent



12. With the given data in the figure, AGHI = AlJG by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency

13. With the given data in the figure, ADEF = AGFE by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) not congruent (iv) RHS Congruency (v) SAS Congruency

14. With the given data in the figure, ATJK = ASK] by which property?
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(i) not congruent (ii) SAS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) RHS Congruency

15. With the data in the given figure, ADGO = AEFO by which property?
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(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) SSS Congruency



16. With the data in the given figure, ACFE = ACDE by which property?
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(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency

17. With the data in the given figure, AFAB = AEBA by which property?
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(i) ASA Congruency (ii) SAS Congruency (iii) not congruent (iv) SSS Congruency (v) RHS Congruency

18. With the data in the given figure, APHI = AQIH by which property?
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(i) RHS Congruency (ii) not congruent (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency



19. In the given figure, ADBC is an isosceles triangle. AE L BC passing through D. AADB = AADC by which property?
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(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SSS Congruency

20. In the given figure, ABCD is a square and ARAB is an equilateral triangle. ARDA = ARCB by which property?
D C

A B

(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) SAS Congruency

21. With the data in the given figure, AGHJ = AGIK by which property?
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(i) RHS Congruency (ii) not congruent (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency



22. With the data in the given figure, AHKI = AHK] by which property?
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(i) SAS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) SSS Congruency (v) not congruent

23. With the data in the given figure, AHJI = AIKH by which property?
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(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency

24. With the data in the given figure, ALMP = ALNO by which property?
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(i) ASA Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) not congruent (v) SAS Congruency

25. In the given figure, AEFG is an obtuse angled triangle. AEFH = AGFH by which property?

7

(i) ASA Congruency (ii) RHS Congruency (iii) not congruent (iv) SSS Congruency (v) SAS Congruency



26. With the data in the given figure, AAOB = AAOC by which property?
A
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(i) ASA Congruency (ii) RHS Congruency (iii) not congruent (iv) SSS Congruency (v) SAS Congruency

27. With the data in the figure, AADB = ACDB by which property?
A
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(i) SAS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) not congruent (v) RHS Congruency

28. With the data in the figure, AJMK = AJML by which property?
J

(i) SSS Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) not congruent



29. With the data in the figure, ABEC = ADEC by which property?
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(i) ASA Congruency (ii) SSS Congruency (iii) SAS Congruency (iv) not congruent (v) RHS Congruency

30. With the data in the figure, AGHJ = AGI) by which property?
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(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) ASA Congruency

31. With the data in the figure, AGJH = AHIG by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) SAS Congruency (v) not congruent

32. With the data in the figure, AKNL = AKNM by which property?
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(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency




33. With the data in the figure, ACOD = AFOE by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency

34. With the data in the figure, ADEG = AEDF by which property?
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(i) ASA Congruency (ii) SSS Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

35. With the data in the figure, AEGH = AGEF by which property?
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(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) SSS Congruency (v) not congruent

36. With the data in the figure, ADGE = ADGF by which property?
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(i) ASA Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) SSS Congruency (v) not congruent



37. With the data in the figure, ACFD = ADEC by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

38. With the data in the figure, AHOI = AJOK by which property?
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(i) ASA Congruency (ii) not congruent (iii) SAS Congruency (iv) SSS Congruency (v) RHS Congruency

39. With the data in the figure, ADOE = AFOG by which property?
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(i) not congruent (ii) SSS Congruency (iii) SAS Congruency (iv) RHS Congruency (v) ASA Congruency

40. With the data in the figure, AHIK = AIH) by which property?
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(i) not congruent (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency



41. With the data in the figure, ABCE = AFDE by which property?
B

(i) SSS Congruency (ii) SAS Congruency (iii) not congruent (iv) ASA Congruency (v) RHS Congruency

42. With the data in the figure, ALMO = ANMO by which property?
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(i) not congruent (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency

43. With the data in the figure, AGHK = AHGL by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

44, With the data in the figure, AHJK = AHJI by which property?
K

(i) ASA Congruency (ii) SSS Congruency (iii) not congruent (iv) RHS Congruency (v) SAS Congruency



45. With the data in the figure, AAED = ABEC by which property?

D
C
E
A B

(i) SAS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) not congruent

46. With the data in the figure, ALMP = ALNQ by which property?
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(i) ASA Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) not congruent (v) SAS Congruency

47. With the data in the given figure, AOPR = AQPR by which property?
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(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) SAS Congruency (v) RHS Congruency

O

48. With the data in the given figure, APQS = AQPR by which property?
S R
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(i) SAS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) not congruent (v) RHS Congruency




49. With the data in the given figure, AMNP = AOPN by which property?
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(i) ASA Congruency (ii) SSS Congruency (iii) SAS Congruency (iv) RHS Congruency (v) not congruent

50. With the data in the given figure, ANOQ = APOQ by which property?
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(i) RHS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency (v) not congruent
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